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begin
integer x;
- real y;
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end
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X, ¥ Zo
oy
0,1,2,3,4,5,6,7,8,9
2
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(3) BHBHE:
V@&, AN(H), T13E);
(4) B A
goto(B: 1), if(Ank ); then(N]), else(&/N), for -
(G+F), do(FhdT)3
(5) srFRfF:
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1= (IES), L), step(FK); until(HE),
while(24);
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end(£53);
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integer (3 #1), real(sg#Y), array(4(4l), switch
(IF3k), procedure (G #2);
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'value(ﬁi)o
=, FIRF
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£0%5,if, then, else, for, do, step, until, while, begin, end,
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Abn i B B FRIRPF: abs, sign, sqrt,arctan, In, exp, sin, cos
M entier,

A TR & bR IR R — e B &, T BB W LR
ARFR A R AT SXFETIR, FRIRPEA B % A S ar i
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PR (E Y 2B 3, B RR
real a,b,c,x,y;
WG, KR a,b, 0,0 RIEMAFIHLBATIEE R AR SR o,
¢, % FYBRITTH &, BAk:
read4(a, b, c,x);
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real a,b,c,x,y; cooeerereoneonseoenneen e i B R4
read4(a,b,c,z); '
y::(axx-l—b)xx—l—c;}--- B wm Bniiion 2am
writel(y)
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2:=5/13;
y:=12/13;
u:=0.6Xz—0.5Xy;
y:=0.6 Xu+0.6 Xy
X =u;
write2(z, y)

end
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zi=y:=2:=0.5
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1 writel(y) 4 BRI A MK IES, readi(a,b, e, 2) KR
1 4 A BABRIA, HPIREA 4 AR a,b,c,x, writel(y)Hk
RO RM—AER y WIEITEH R, HHiE o writel (x+y)
FRAEC YR — A F85 o+ y I ED ok, 76C ) rhioZeik
RAUBETA, BAAESRCNSFI k. %TRERME
A S R A B M it R ), 7T 28 2 4 2 5 B s SR

B12.2 B—it ik HEN
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¥
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B — T TR R BRI S 2

—b+/b2—dac . —b—+/b’—dac
2a > 2a

AN E R 2, 390
2) HUHHELSR:
B—%  WEAIIB I BB a,b, ¢,
B ISP IR/ 57— dac, JEAf 1 B4 R
B ¢,
WL IR
WO Jp sk R R @1,

X =

W09, I 445 RS L 2

3) G
begin

real a,b,c,q,%, 23
read 3(a,b,c);
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g:=sqrt(bT2—4xaxe)s
zl:={(—b+q)/(2xa);
a2i=(—b—q)/(2xa);

write 2(x1,22) T

end
B riEgEy, AR, HENLEREREDEE
B B BRI 2 A AT o

J &8 =
1. U TRPOHBERESBHAHIR
1% L X MO MR %KIBESE G
;—E% x+2/y+4
%2’ ab/ (c+2)
(x+3y)8 z+y713
(’”‘2“}‘*'”)z (z+A4+3.1416)/(2x B) T 2
(%)n—l (x/y) Tn-1
¢ e‘-:].“?g a/b+cd/efg
(m+n)(r+s) m+nXr+s
a+br+cx?+dxd atxXbt+axx(c+dXzx)
%}g—z (1600043 X G +1.10%) /(4568995 X G +1. 105)
1
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2. REWTAIHFERERM ALGOL i AR FER:

(1) (z+y)? (2) z+y°
(3) at-6o7 4) A+£
C
o+b b
(5) p (6) a+c+d
a+b z* a3
1 T S
D o¥a (&) I4ato-+3
(9) a-b+ci— (25 (10) (@_)v—‘
v
(11) 2-p-r-sin(x/p) (12) 2-R-sin‘—§-

(3 WFFGEH  an -9

(15) 1+ =
1+3+ (2x)*
54 (32)°
7+ (12)?
3. JURL{AEIE 15 M 74 A R R
(1) z=ab? +5In(1+c?)

(2) z= —b+A/b%? —4dac

2a
_ en_l_ab
3 x_(a+n )
_sinx az
(@) y=3074 |oos 22 |

(5) y=z=am‘+]x‘tgx—a|
(6) D=E=b[(x+\/xz+1)(ax-'r1>»—2—————(;’fu)]
4. M TII& G Rz
(1) A=B:=012-1
(2) A:=B/-2%xC
(3) A4:=18,,15(B+1)(C—1)
(4) A:=2%(B+2(C-B))
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ik, WA ER v<a BRI #H v<a, MHE y=0,F
Mit5E y=(z—a)’ '
BJa, HAE R y MEITEN I 3k,
DA BB 2 1 A e R P 3-2,

FTER
R
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FRFInT:
begin

real a,x,y;
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